(1, v) = 1(0,0) (0,1), (1,0)
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\usepackage{pst-node}

\begin{document}

% das ist die Beispielmatrix

$

\def\arraystretch{1.2}

\begin{array}{11|1@{\kern25pt}1@{\kern15pt}1@{\kerni5pt}1}
& (\mu, \nw= & (0,0) & (0,1), & (1,0) \\\hline
\rnode{T1_1}{T_{1,-1}}=0& \rnode{T10}{T_{10} = £_{1}} \\
& \rnode{T21}T_{213}\\
& \rnode{T20}{T_{20} = f_{1}} && \rnode{T32}{T_{32}}\\
& \rnode{T31}{T_{31}} && \rnode{T43}{T_{43}}\\
& \rnode{T30}{T_{30}=f_{1}} && \rnode{T42}{T_{42}}\\
& \rnode{T41}T_{41}} &\\

i=1 &

& &
i=2 & T_{2,-1}=0

& &
i=3 & T_{3,-1}=0

& &
\vdots&\vdots &
\end{array}
$

\ncangle [angleA=-90,angleB=180,arrows=->,nodesepB=0.1]{T1_1}{T21}

\vdots

\psset{arm=0,angleA=0,angleB=180,arrows=->}
\ncdiag{T10}{T21}\ncdiag{T20}{T21}
\ncdiag{T21}{T32}\ncdiag{T31}{T32}
\ncdiag{T20}{T31}\ncdiag{T32}{T43}
\ncdiag{T30}{T31}\ncdiag{T42}{T43}
\ncdiag{T31}{T42}\ncdiag{T41}{T42}

\ncdiag{T30}{T41}



